

Proof of Wahl's Conjecture on Surjectivity of the Gaussian Map for Flag Varieties



Shrawan Kumar

American Journal of Mathematics, Vol. 114, No. 6. (Dec., 1992), pp. 1201-1220.

Stable URL:

<http://links.jstor.org/sici?sici=0002-9327%28199212%29114%3A6%3C1201%3APOWCOS%3E2.0.CO%3B2-K>

American Journal of Mathematics is currently published by The Johns Hopkins University Press.

Your use of the JSTOR archive indicates your acceptance of JSTOR's Terms and Conditions of Use, available at <http://www.jstor.org/about/terms.html>. JSTOR's Terms and Conditions of Use provides, in part, that unless you have obtained prior permission, you may not download an entire issue of a journal or multiple copies of articles, and you may use content in the JSTOR archive only for your personal, non-commercial use.

Please contact the publisher regarding any further use of this work. Publisher contact information may be obtained at <http://www.jstor.org/journals/jhup.html>.

Each copy of any part of a JSTOR transmission must contain the same copyright notice that appears on the screen or printed page of such transmission.

JSTOR is an independent not-for-profit organization dedicated to creating and preserving a digital archive of scholarly journals. For more information regarding JSTOR, please contact support@jstor.org.

PROOF OF WAHL'S CONJECTURE ON SURJECTIVITY OF THE GAUSSIAN MAP FOR FLAG VARIETIES

By SHRAWAN KUMAR

Introduction. Let X be a smooth projective variety over \mathbf{C} , with ample line bundles \mathcal{L}_1 and \mathcal{L}_2 on X . We can form their external tensor product to get a line bundle $\mathcal{L}_1 \boxtimes \mathcal{L}_2$ on $X \times X$. Let \mathcal{I}_D be the ideal sheaf of the diagonal $D \subset X \times X$. Wahl defines a map (which he calls as the Gaussian map) $\Phi_{\mathcal{L}_1, \mathcal{L}_2} : H^0(X \times X, \mathcal{I}_D \otimes (\mathcal{L}_1 \boxtimes \mathcal{L}_2)) \rightarrow H^0(X, \Omega_X^1 \otimes \mathcal{L}_1 \otimes \mathcal{L}_2)$; which is induced from the canonical projection: $\mathcal{I}_D \rightarrow \mathcal{I}_D/\mathcal{I}_D^2$ by identifying the $\mathcal{O}_{X \times X}/\mathcal{I}_D \approx \mathcal{O}_D$ -module $\mathcal{I}_D/\mathcal{I}_D^2$ (supported in D) with the sheaf of 1-forms Ω_X^1 on $D \approx X$. Wahl has extensively studied this map in [W₁], [W₂], [W₃], and [W₄]; and he made the following conjecture in [W₄].

CONJECTURE (Wahl). *The Gaussian map $\Phi_{\mathcal{L}_1, \mathcal{L}_2}$, defined above, is surjective for any (generalized) flag variety $X = G/P$ (where G is any complex semi-simple group and $P \subset G$ a parabolic subgroup) and any ample homogeneous line bundles \mathcal{L}_1 and \mathcal{L}_2 on X .*

Wahl proved the above conjecture in the case when $X = SL(n, \mathbf{C})/B$, and also in the case when $X = G/P$ but P is a maximal parabolic subgroup corresponding to a miniscule weight (cf. [W₄]).

One of the principal aims of this paper is to prove the above conjecture in full generality. In fact we prove the following:

(2.5) THEOREM. *With the notation and assumptions as in the above conjecture; $H^p(G/P \times G/P, \mathcal{I}_D^2 \otimes (\mathcal{L}_1 \boxtimes \mathcal{L}_2)) = 0$, for all $p > 0$.*

Considering the long exact cohomology sequence associated to the sheaf exact sequence:

$$0 \rightarrow \mathcal{I}_D^2 \otimes (\mathcal{L}_1 \boxtimes \mathcal{L}_2) \rightarrow \mathcal{I}_D \otimes (\mathcal{L}_1 \boxtimes \mathcal{L}_2) \rightarrow (\mathcal{I}_D/\mathcal{I}_D^2) \otimes (\mathcal{L}_1 \boxtimes \mathcal{L}_2) \rightarrow 0,$$

Manuscript received 11 January 1990.
American Journal of Mathematics 114 (1992), 1201–1220.

we immediately see that the above Theorem (2.5) implies the validity of Wahl's conjecture. (Actually, as we have shown in Remark 2.10, the two are equivalent.)

We prove the above theorem by first proving the following result on the existence of certain components in the tensor product of two representations.

Let \mathfrak{g} be a complex semi-simple Lie algebra with a fixed Borel subalgebra \mathfrak{b} and a Cartan subalgebra $\mathfrak{h} \subset \mathfrak{b}$. We denote the set of roots for the pair $(\mathfrak{b}, \mathfrak{h})$ by Δ_+ , and call them as the positive roots. Let $\{\alpha_1, \dots, \alpha_\ell\}$ be the set of simple roots in Δ_+ and let $\{\alpha_1^\vee, \dots, \alpha_\ell^\vee\}$ be the corresponding co-roots. For any $\lambda \in \mathfrak{h}^*$, define $S_\lambda = \{1 \leq i \leq \ell : \lambda(\alpha_i^\vee) = 0\}$; and for any $\beta \in \Delta_+$, define $F_\beta = \{1 \leq i \leq \ell : \beta - \alpha_i \notin \Delta_+ \cup \{0\}\}$. With this notation, we have the following:

(1.1) THEOREM. *Let $V(\lambda)$ and $V(\mu)$ be two (finite dimensional) irreducible \mathfrak{g} -modules (with highest weights λ and μ resp.). Take any $\beta \in \Delta_+$ satisfying:*

$$(P_1) \quad \lambda + \mu - \beta \text{ is a dominant weight, and}$$

$$(P_2) \quad S_\lambda \cup S_\mu \subset F_\beta .$$

Then the \mathfrak{g} -module $V(\lambda + \mu - \beta)$ occurs as a component in the tensor product \mathfrak{g} -module $V(\lambda) \otimes V(\mu)$.

(To understand the condition P_2 , it is instructive to keep the case $\mu = 0$ in mind.)

We next show that the validity of Theorem (2.5) is 'essentially' equivalent to the validity of the above Theorem (1.1) (see Proposition 2.6 for a more precise statement). It may be mentioned that Theorem (2.5) easily implies (1.1) (see [W₄; Proposition 3.9]). But we have reverted the roles.

Theorem (1.1) should be contrasted with the PRV (Parthasarathy-Ranga Rao-Varadarajan) conjecture (proved in [Ku₁]) which asserts:

THEOREM [Ku₁; Theorem 2.10]. *Let \mathfrak{g} , $V(\lambda)$, and $V(\mu)$ be as in Theorem (1.1). Then for any $w \in W$ the irreducible \mathfrak{g} -module $V(\lambda + w\mu)$ occurs in the tensor product $V(\lambda) \otimes V(\mu)$ with multiplicity $m_w(\lambda, \mu) \geq 1$; where W is the Weyl group associated to $(\mathfrak{g}, \mathfrak{h})$, and $\lambda + w\mu$ is the unique dominant element in the W -orbit of $\lambda + w\mu$.*

In fact in [Ku₂; Theorem 1.2] (following a conjecture due to D. N. Verma), we have shown that $m_w(\lambda, \mu) \geq \#\{v \in W_\lambda \backslash W/W_\mu : \overline{\lambda + v\mu} = \overline{\lambda + w\mu}\}$, where W_λ is the stabilizer of λ in W .

It should be mentioned that our Theorem (1.1) detects certain components in the tensor product $V(\lambda) \otimes V(\mu)$ not covered by the above theorem (PRV conjecture) and conversely. (Assuming λ and μ to be regular the above theorem detects $|W|$ many components whereas Theorem 1.1 only gives $\leq |\Delta_+|$ components.)

Section (0) is devoted to establishing notation. Section (1) contains the statement of our Theorem (1.1) and its proof, whereas Section (2) contains the proof of Wahl's conjecture.

Acknowledgments. I thank J. Wahl for bringing my attention to his conjecture and to D. N. Verma for some conversations.

0. Notation. We will adhere (often without explaining again) to the following notational conventions throughout the paper:

- \mathfrak{g} = a complex finite dimensional semisimple Lie algebra
- \mathfrak{b} = a fixed Borel subalgebra of \mathfrak{g}
- \mathfrak{n} = the nil-radical $[\mathfrak{b}, \mathfrak{b}]$ of \mathfrak{b}
- \mathfrak{h} = a fixed Cartan subalgebra $\subset \mathfrak{b}$
- $U(\mathfrak{a})$ = the universal enveloping algebra of \mathfrak{a} (for any Lie algebra \mathfrak{a})
- G = Simply-connected complex (semi-simple) group with Lie algebra \mathfrak{g}
- B = the Borel subgroup of G with Lie algebra \mathfrak{b}
- N = the unipotent radical $[B, B]$ of B
- T = the (complex) maximal torus of G with Lie algebra \mathfrak{h}
- Δ = the set of roots for the pair $(\mathfrak{g}, \mathfrak{h})$
- \mathfrak{g}_α = the root space corresponding to the root α (for any $\alpha \in \Delta$)
- Δ_+ = the set of roots for the pair $(\mathfrak{b}, \mathfrak{h})$
- W = the Weyl group associated to $(\mathfrak{g}, \mathfrak{h})$
- $\langle \cdot, \cdot \rangle$ = a fixed killing form on \mathfrak{h}^*
- $\{\alpha_1, \dots, \alpha_\ell\}$ denotes the set of simple roots $\subset \Delta_+$

- $\{\alpha_i^\vee, \dots, \alpha_\ell^\vee\}$ denotes the corresponding (simple) co-roots: $\alpha_i^\vee := 2\alpha_i / \langle \alpha_i, \alpha_i \rangle$
 $\{r_1, \dots, r_\ell\}$ denotes the (simple) reflections $\in W$ corresponding to the simple roots $\{\alpha_1, \dots, \alpha_\ell\}$ respectively
 \mathfrak{h}_Z^* = the set of integral weights, i.e., $\{\lambda \in \mathfrak{h}^* : \langle \lambda, \alpha_i^\vee \rangle \in \mathbf{Z}, \text{ for all } i\}$
 D = the set of dominant integral weights, i.e., $\{\lambda \in \mathfrak{h}_Z^* : \langle \lambda, \alpha_i^\vee \rangle \geq 0, \text{ for all } i\}$
 $D_S^0 = \{\lambda \in D : \langle \lambda, \alpha_i^\vee \rangle = 0 \text{ if and only if } i \in S\}$, where S is any subset of $\{1, \dots, \ell\}$
 $D^0 = D_\phi^0$
 For $\lambda \in \mathfrak{h}_Z^*$, \mathbf{C}_λ denotes the one dimensional B -module, such that the torus T acts by the character e^λ and (of course) the unipotent radical N acts trivially
 $V(\lambda)$ = the (finite dimensional) irreducible \mathfrak{g} -module with highest weight $\lambda \in D$
 ρ = the (unique) element in D , such that $\langle \rho, \alpha_i^\vee \rangle = 1$, for all the simple co-roots α_i^\vee .

Unless otherwise stated, vector spaces and tensor products are over \mathbf{C} . For a vector space V , V^* denotes its dual $\text{Hom}_{\mathbf{C}}(V, \mathbf{C})$. For any $\lambda \in \mathfrak{h}_Z^*$, $\bar{\lambda}$ denotes the unique dominant element in the W -orbit of λ . For any $1 \leq i \leq \ell$, we fix a root vector $e_i \in \mathfrak{g}_{\alpha_i}$ and $f_i \in \mathfrak{g}_{-\alpha_i}$ such that $\langle e_i, f_i \rangle = 2 / \langle \alpha_i, \alpha_i \rangle$, where $\langle \cdot, \cdot \rangle$ denotes the killing form on \mathfrak{g} induced from $\langle \cdot, \cdot \rangle$ on \mathfrak{h}^* . In the sequel, we shall often denote $\langle \lambda, \alpha_i^\vee \rangle$ by $\lambda(\alpha_i^\vee)$.

1. Existence of certain components in the tensor product of two representations. For any $\lambda \in \mathfrak{h}^*$, define $S_\lambda = \{1 \leq i \leq \ell : \lambda(\alpha_i^\vee) = 0\}$; where $\{\alpha_i^\vee\}_{1 \leq i \leq \ell}$ are the simple co-roots. Also for any $\beta \in \Delta_+$, define $F_\beta = \{1 \leq i \leq \ell : \beta - \alpha_i \text{ does not belong to } \Delta_+ \cup \{0\}\}$.

With this notation we have the following main result of this section:

(1.1) THEOREM. *Let \mathfrak{g} be any complex semi-simple Lie algebra. Take any $\lambda, \mu \in D$ and $\beta \in \Delta_+$ satisfying*

$$(P_1) \quad \lambda + \mu - \beta \in D \quad \text{and}$$

$$(P_2) \quad S_\lambda \cup S_\mu \subset F_\beta.$$

Then the irreducible \mathfrak{g} -module $V(\lambda + \mu - \beta)$ occurs as a component in the tensor product \mathfrak{g} -module $V(\lambda) \otimes V(\mu)$ with multiplicity (denoted $m_\beta(\lambda, \mu)$) ≥ 1 .

Before we come to the proof of the above theorem, we record a particular case of this in the following:

(1.2) COROLLARY. *Let \mathfrak{g} be any complex semi-simple Lie algebra such that the simple Lie algebra of type G_2 does not occur as a component of \mathfrak{g} . Then, for any $\lambda, \mu \in D^0$ (cf. Section 0) and any $\beta \in \Delta_+$, $m_\beta(\lambda, \mu) \geq 1$.*

(As seen below $\lambda + \mu - \beta \in D$ under the assumptions of the corollary.)

Proof. For any \mathfrak{g} as in the corollary and any $\beta \in \Delta_+$, $\langle \beta, \alpha_i^\vee \rangle \leq 2$ for all the simple co-roots α_i^\vee (cf. [B; page 278]). This, in particular, gives that $\lambda + \mu - \beta \in D$. Now the corollary follows as a particular case of the above theorem. □

(1.3) Remark. The above corollary in the special case when β is a sum of simple roots with coefficients ≤ 1 , is earlier obtained by Wahl [W₄; Section 5].

As a preparation for the proof of Theorem (1.1), we observe the following crucial

(1.4) PROPOSITION. *For any $\lambda, \mu, \theta \in D$, let $m = m(\lambda, \mu; \theta)$ denote the multiplicity of $V(\theta)$ in the tensor product $V(\lambda) \otimes V(\mu)$. Then $m = \dim V$; where $V = V(\lambda, \mu; \theta) := \{v \in [V(\mu)]_{\theta-\lambda} : e_i^{\lambda(\alpha_i^\vee)+1}v = 0, \text{ for all } 1 \leq i \leq \ell\}$, $[V(\mu)]_{\theta-\lambda}$ denotes the $(\theta - \lambda)$ -th weight space of $V(\mu)$, and e_i is as in Section 0.*

Proof. Clearly $m = \dim [V(\lambda) \otimes V(\mu)]_\theta^n$, where $[V(\lambda) \otimes V(\mu)]_\theta^n$ denotes the space of n -invariants of weight θ in $V(\lambda) \otimes V(\mu)$. We can rewrite $[V(\lambda) \otimes V(\mu)]_\theta^n \approx [\text{Hom}_n(V_\lambda^*, V(\mu))]_\theta$.

Now, by a result of Harish-Chandra, the map $\varphi : U(\mathfrak{n}) \rightarrow V(\lambda)^*$ given by $X \mapsto Xv_\lambda^*$, for $X \in U(\mathfrak{n})$ (where $v_\lambda^* \neq 0 \in [V(\lambda)^*]_{-\lambda}$), is surjective and moreover

$$\ker \varphi = \sum_{1 \leq i \leq \ell} U(\mathfrak{n}) \cdot e_i^{\lambda(\alpha_i^\vee)+1}.$$

(This also follows from the BGG-resolution.)

In particular, the map $\psi : V \rightarrow [\text{Hom}_n(V(\lambda)^*, V(\mu))]_0$, given by $\psi(v)(Xv_\lambda^*) = Xv$ (for $v \in V$ and $X \in U(\mathfrak{n})$), is well defined and is an isomorphism. □

The following result is well known.

(1.5) COROLLARY. *Let $\lambda, \mu, \theta, \lambda', \mu' \in D$. Then*

$$m(\lambda, \mu; \theta) \leq m(\lambda + \lambda', \mu + \mu'; \theta + \lambda' + \mu').$$

Proof. Define the map $\xi : V(\mu) \rightarrow V(\mu + \mu')$ by $\xi(v) = \pi(v \otimes v_{\mu'})$, for $v \in V(\mu)$; where $0 \neq v_{\mu'} \in [V(\mu')]_{\mu'}$ and π is the unique \mathfrak{g} -module projection: $V(\mu) \otimes V(\mu') \rightarrow V(\mu + \mu')$.

Since for any $0 \neq v \in V(\mu)$, $v_\mu \otimes v_{\mu'} \in U(\mathfrak{g})(v \otimes v_{\mu'})$, it is easy to see that the map ξ is injective. Further ξ takes the set $V(\lambda, \mu; \theta)$ into the set $\{w \in [V(\mu + \mu')]_{\theta + \mu' - \lambda} : e_i^{\lambda(\alpha_i^\vee) + 1} w = 0, \text{ for all } 1 \leq i \leq \ell\}$. In particular, by the above proposition, the corollary follows. □

We also record the following lemma on the property of finite reduced root systems.

(1.6) LEMMA. *Let \mathfrak{g} be any simple Lie algebra. Then*

(a) *If $\beta \in \Delta_+$ is such that $\beta - 2\alpha_j$ is a root (for some simple root α_j), then none of the $\beta - 2\alpha_i$ and $\beta - 2\alpha_i - \alpha_j$ belong to $\Delta \cup \{0\}$, for any simple root $\alpha_i \neq \alpha_j$.*

We denote this (unique) α_j (whenever it exists) by $\alpha_j(\beta)$.

(b) *Assume \mathfrak{g} to be simply laced. Then, for any $\beta \in \Delta_+$ and simple root α_j , $\beta - 2\alpha_j$ is a root if and only if $\beta = \alpha_j$.*

Proof. The (b)-part follows from the fact that for any $\beta \in \Delta_+$ and any simple co-root α_i^\vee such that $\beta \neq \alpha_j, -1 \leq \langle \beta, \alpha_i^\vee \rangle \leq 1$ (see [B; Page 278]).

To prove the (a)-part; (in view of the b-part and the classification of simple Lie algebras) we can assume that the type of \mathfrak{g} is one of (following the notation of [B]) $B_\ell(\ell \geq 2), C_\ell(\ell \geq 2), F_4$, or G_2 . Now, from the explicit knowledge of Δ_+ (see [B]), one easily finds the validity of (a).

Alternatively (as B. Kostant has suggested), by looking at the span of β, α_i , and α_j (for any $i \neq j$), we can reduce the problem to the simple Lie algebras of rank ≤ 3 ; where we can explicitly check. □

(1.7) *Proof of Theorem (1.1).* By Proposition (1.4), to prove the theorem, it suffices to show that $V = V(\lambda, \mu; \lambda + \mu - \beta) := \{v \in [V(\mu)]_{\mu-\beta} : e_i^{\lambda(\alpha_i^\vee)+1}v = 0, \text{ for all } 1 \leq i \leq \ell\} \neq 0$. Next observe that (to prove the theorem), it suffices to assume that \mathfrak{g} in fact is simple.

We need to deal with the following three cases separately:

Case (a). $\beta - 2\alpha_i$ is not a positive root for any simple root α_i or else $\langle \mu, \beta^\vee \rangle = 1$:

(This case, in particular, covers all the roots of simply laced Lie algebras – $A_\ell, D_\ell, E_6, E_7,$ and E_8 .)

Consider the element $v := X_{-\beta}v_\mu \in [V(\mu)]_{\mu-\beta}$, where $0 \neq X_{-\beta} \in \mathfrak{g}_{-\beta}$ and $0 \neq v_\mu \in [V(\mu)]_\mu$. We claim that

(1) $X_\beta v \neq 0$, for $0 \neq X_\beta \in \mathfrak{g}_\beta$ (in particular $v \neq 0$), and (2) $v \in V$:

$$\begin{aligned} X_\beta X_{-\beta}v_\mu &= [X_\beta, X_{-\beta}]v_\mu && , \text{ since } X_\beta v_\mu = 0 \\ &= \langle X_\beta, X_{-\beta} \rangle h_\beta v_\mu && , \text{ where } \langle \cdot, \cdot \rangle \text{ is the Killing form on } \mathfrak{g} \text{ and} \\ & && h_\beta \text{ is the unique element in } \mathfrak{h} \text{ satisfying} \\ & && \chi(h_\beta) = \langle \chi, \beta \rangle \text{ for all } \chi \in \mathfrak{h}^* \\ &= \langle X_\beta, X_{-\beta} \rangle \mu(h_\beta)v_\mu. \end{aligned}$$

Writing $\beta = \sum_{1 \leq k \leq \ell} n_k \alpha_k$, we get that $n_{k_0} > 0$ for some $k_0 \notin F_\beta$. In particular, by the condition P_2 , $\mu(\alpha_{k_0}^\vee) > 0$ and hence $\mu(h_\beta) \neq 0$. This proves (1). We now prove (2):

For $i \in F_\beta$, $e_i v = [e_i, X_{-\beta}]v_\mu = 0$ (by the definition of F_β).

For $i \notin F_\beta$ (setting $n = \lambda(\alpha_i^\vee) + 1$), $e_i^n v = ((ad e_i)^n X_{-\beta})v_\mu = 0$, for the following reason:

In the case when $\beta - 2\alpha_i$ is not a positive root, $((ad e_i)^2 X_{-\beta})v_\mu$ is clearly 0. Moreover, since $i \notin F_\beta$, by the assumption P_2 , $\lambda(\alpha_i^\vee) \geq 1$.

In the other case, i.e., $\langle \mu, \beta^\vee \rangle = 1$, we easily see that $[V(\mu)]_{\mu-\beta+n\alpha_i} = 0$, since $\|\mu - \beta + n\alpha_i\| > \|\mu\|$:

$$\begin{aligned} \|\mu - \beta + n\alpha_i\|^2 &= \|\mu\|^2 + n^2\|\alpha_i\|^2 + 2n\langle \mu - \beta, \alpha_i \rangle \\ &= \|\mu\|^2 + n^2\|\alpha_i\|^2 + n\|\alpha_i\|^2 \langle \mu - \beta, \alpha_i^\vee \rangle \\ &= \|\mu\|^2 + n\|\alpha_i\|^2 (\langle \lambda + \mu - \beta, \alpha_i^\vee \rangle + 1) \\ &> \|\mu\|^2; \text{ since, by } P_1, \lambda + \mu - \beta \in D. \end{aligned}$$

So the theorem is established in this case; in particular, for any simply laced \mathfrak{g} .

Case (b). $\beta - 2\alpha_j$ is a positive root for some (and hence, by Lemma 1.6, *unique*); simple root $\alpha_j = \alpha_j(\beta)$, and $\mathfrak{g} \neq G_2$:

Pick a non-zero $X_{-\beta} \in \mathfrak{g}_{-\beta}$ and set $X_{-\beta+\alpha_j} := [e_j, X_{-\beta}]$, and $X_{-\beta+2\alpha_j} := (ad e_j)^2 X_{-\beta}$. By our assumption on β , $X_{-\beta+\alpha_j}$ and $X_{-\beta+2\alpha_j}$ are both non-zero. (Observe that none of $\beta + \alpha_j$ and $\beta - 3\alpha_j$ can be a root since, for any $\mathfrak{g} \neq G_2$ and any $\alpha \in \Delta$, $-2 \leq \langle \alpha, \alpha_j^\vee \rangle \leq 2$.) Now take $\nu = (X_{-\beta+\alpha_j} f_j - 2\langle \mu, \alpha_j^\vee \rangle X_{-\beta}) \nu_\mu$. Again we claim that

$$(1) X_\beta \nu \neq 0, \text{ for } 0 \neq X_\beta \in \mathfrak{g}_\beta$$

$$(*) \dots \quad (2) e_i^2 \nu = 0, \text{ for all } 1 \leq i \leq \ell, \text{ and}$$

$$(3) e_i \nu = 0, \text{ for all } i \in F_\beta \cap F_{\beta-\alpha_j} :$$

We have

$$\begin{aligned} X_\beta \nu &= [[X_\beta, X_{-\beta+\alpha_j}], f_j] \nu_\mu - 2\langle \mu, \alpha_j^\vee \rangle [X_\beta, X_{-\beta}] \nu_\mu \\ &= [[e_j, [X_\beta, X_{-\beta}]], f_j] \nu_\mu - 2\langle \mu, \alpha_j^\vee \rangle [X_\beta, X_{-\beta}] \nu_\mu, \text{ since } [e_j, X_\beta] = 0 \\ &= -\alpha_j([X_\beta, X_{-\beta}]) \mu(\alpha_j^\vee) \nu_\mu - 2\langle \mu, \alpha_j^\vee \rangle [X_\beta, X_{-\beta}] \nu_\mu \\ &= -\langle \mu, \alpha_j^\vee \rangle \langle X_\beta, X_{-\beta} \rangle \langle 2\mu + \alpha_j, \beta \rangle \nu_\mu \\ &\neq 0, \text{ since } \langle \beta, \alpha_j^\vee \rangle = 2 \text{ and } j \notin S_\mu \text{ (by } P_2). \end{aligned}$$

This proves (1). We next show (2):

First take $i \neq j$. Then $e_i^2 X_{-\beta} \nu_\mu = ((ad e_i)^2 X_{-\beta}) \nu_\mu = 0$, by Lemma (1.6). Also $e_i^2 X_{-\beta+\alpha_j} f_j \nu_\mu = ((ad e_i)^2 X_{-\beta+\alpha_j}) f_j \nu_\mu = 0$, again by Lemma (1.6). Further

$$\begin{aligned} e_i^2 \nu &= e_j (X_{-\beta+2\alpha_j} \cdot f_j + \mu(\alpha_j^\vee) X_{-\beta+\alpha_j}) \nu_\mu - 2\langle \mu, \alpha_j^\vee \rangle X_{-\beta+2\alpha_j} \nu_\mu \\ &= 2\mu(\alpha_j^\vee) X_{-\beta+2\alpha_j} \nu_\mu - 2\langle \mu, \alpha_j^\vee \rangle X_{-\beta+2\alpha_j} \nu_\mu \\ &= 0. \end{aligned}$$

This establishes (2). The assertion (3) is clearly true.

By (*), we get that $v \in V$ in all the cases covered by (b) provided $S_\lambda \subset F_{\beta-\alpha_j}$ (since $S_\lambda \subset F_\beta$ by the assumption P_2), and hence the theorem is established in the case (b) as well provided the following condition is satisfied:

$$(\mathcal{C}) \dots \quad S_\lambda \subset F_{\beta-\alpha_j}.$$

Two cases are noteworthy when the condition \mathcal{C} is automatically satisfied:

(\mathcal{C}_1) When $\lambda \in D^0$, so that $S_\lambda = \phi$, and

(\mathcal{C}_2) Any λ, μ as in Theorem (1.1) but those β (satisfying the condition as in case b) which have $F_\beta = F_{\beta-\alpha_j(\beta)}$.

We next observe that for a given $\beta \in \Delta_+$ in any $\mathfrak{g} \neq G_2$, to prove the theorem for arbitrary λ, μ (satisfying the conditions of the theorem), it suffices to assume (in view of Corollary (1.5)) that $\lambda = \mu = \rho_\beta$, where

$$\rho_\beta := \sum_{i \in F_\beta} \chi_i, \text{ and } \chi_i (1 \leq i \leq \ell)$$

is the i -th fundamental weight: $\chi_i(\alpha_j^\vee) = \delta_{i,j}$.

(Notice that $2\rho_\beta - \beta \in D$, for any $\beta \in \Delta_+$ in any $\mathfrak{g} \neq G_2$.)

Now, by combining the cases (a) and (b) (satisfying the condition \mathcal{C}_2), we readily see (from the following chart) that the theorem is established for any \mathfrak{g} and any β (for arbitrary choices of $\lambda, \mu \in D$ satisfying the conditions of the theorem) except the three roots: $\beta = 2\alpha_1 + \alpha_2$ of G_2 ; $\beta = \alpha_1 + \alpha_2 + 2\alpha_3 + 2\alpha_4$, and $\beta = \alpha_1 + 2\alpha_2 + 4\alpha_3 + 2\alpha_4$ of F_4 . So the theorem will be completely proved, if we check its validity for the above three roots and $\lambda = \mu = \rho_\beta$; which we isolate as:

Case c. (1) $\mathfrak{g} = G_2$; $\beta = 2\alpha_1 + \alpha_2, \lambda = \mu = \rho_\beta = \chi_1$

(2) $\mathfrak{g} = F_4$; $\beta = \alpha_1 + \alpha_2 + 2\alpha_3 + 2\alpha_4, \lambda = \mu = \rho_\beta = \chi_1 + \chi_4$,

and

(3) $\mathfrak{g} = F_4$; $\beta = \alpha_1 + 2\alpha_2 + 4\alpha_3 + 2\alpha_4, \lambda = \mu = \rho_\beta = \chi_3$:

In this case as well, the validity of Theorem (1.1) can be established by an explicit calculation using Proposition (1.4):

In the first subcase (c-(1)) take for $v = (cX_{-\beta} + dX_{-\beta+\alpha_1}f_1)v_{\chi_1}$, in the second $v = (cX_{-\beta} + dX_{-\beta+\alpha_1}f_1)v_{\chi_1+\chi_4}$, and for the third take $v = (cX_{-\beta} + dX_{-\beta+\alpha_3}f_3 + eX_{-\beta+\alpha_3+\alpha_4}X_{-(\alpha_3+\alpha_4)})v_{\chi_3}$. For some appropriate

CHART

The following chart shows the list of all the possible positive non-simple roots β occurring in any simple Lie algebra over \mathbb{C} such that $\beta - 2\alpha_i(\beta)$ is a root, for some (and hence unique) simple root $\alpha_i(\beta)$. Simply laced Lie algebras— $A_\ell(\ell \geq 3)$, E_6 , E_7 , E_8 —have no such roots β . We have not listed the value of ρ_β and $\langle \rho_\beta, \beta^\vee \rangle$ in those cases when $F_\beta = F_{\beta - \alpha_i(\beta)}$ (i.e. when the condition \mathcal{C}_2 is satisfied). In the following, the symbol $[n]$ denotes the set $\{1, \dots, n\}$.

\mathfrak{g}	β	$\alpha_i(\beta)$	F_β	$F_{\beta - \alpha_i(\beta)}$	ρ_β	$\langle \rho_\beta, \beta^\vee \rangle$
$B_\ell(\ell \geq 2)$	$(\sum_{i=2}^{\ell} \alpha_i) + 2\alpha_\ell$ (for any $1 \leq i < \ell$)	α_ℓ	$[\ell - 1] \setminus \{i\}$, if $i < \ell - 1$ $[\ell - 1]$, if $i = \ell - 1$	F_β	— χ_ℓ	— 1
$C_\ell(\ell \geq 2)$	$(2 \sum_{i=2}^{\ell} \alpha_i) + \alpha_\ell$ (for any $1 \leq i < \ell$)	α_ℓ	$[\ell] \setminus \{i\}$	$[\ell] \setminus \{i, i + 1\}$	χ_ℓ	1
F_4	$\alpha_2 + 2\alpha_3$ $\alpha_1 + \alpha_2 + 2\alpha_3$ $\alpha_2 + 2\alpha_3 + 2\alpha_4$ $\alpha_1 + \alpha_2 + 2\alpha_3 + 2\alpha_4$ $\alpha_1 + 2\alpha_2 + 2\alpha_3 + 2\alpha_4$ $\alpha_1 + 2\alpha_2 + 4\alpha_3 + 2\alpha_4$	α_3 α_3 α_4 α_4 α_4 α_3	$\{1, 2, 4\}$ $\{2, 4\}$ $\{1, 2, 3\}$ $\{2, 3\}$ $\{1, 3\}$ $\{1, 2, 4\}$	$\{1, 4\}$ F_β $\{1, 2\}$ $\{2\}$ F_β $\{1, 2\}$	χ_3 — χ_4 $\chi_1 + \chi_4$ — χ_3	1 — 1 2 — 2
G_2	$2\alpha_1 + \alpha_2$ $3\alpha_1 + \alpha_2$	α_1 α_1	$\{2\}$ $\{2\}$	ϕ F_β	χ_1 χ_1	2 1

choices of $c, d, e \in \mathbf{C}$, v belongs to V in all the cases and $X_{\beta}v \neq 0$. This completes the proof of the theorem. \square

2. Proof of Wahl’s conjecture. Following the notation of Section 0, we fix (once and for all in this section) a proper subset $S \subset \{1, \dots, \ell\}$ (including $S = \emptyset$), and let $B \subset P = P_S$ be the corresponding parabolic subgroup of G , with Lie algebra $\mathfrak{p} = \mathfrak{p}_S$. We denote the unipotent radical of P by $U = U_S$ and its Lie algebra by $\mathfrak{u} = \mathfrak{u}_S$. Then

$$\mathfrak{u} = \bigoplus_{\alpha \in \Delta_+^S} \mathfrak{g}_{\alpha} \text{ and } \mathfrak{p} = \mathfrak{b} \oplus \left(\bigoplus_{\alpha \in \Delta_+(S)} \mathfrak{g}_{-\alpha} \right),$$

where $\Delta_+^S := \Delta_+ \setminus \Delta_+(S)$, and $\Delta_+(S) := (\sum_{i \in S} \mathbf{Z}\alpha_i) \cap \Delta_+$.

We define \mathfrak{u}^- as the Lie algebra $\bigoplus_{\alpha \in \Delta_+^S} \mathfrak{g}_{-\alpha}$, and let U^- be the corresponding (unipotent) subgroup of G .

(2.1) *Definition.* For any algebraic P -module M , by $\mathcal{L}(M)$ we mean the vector bundle (locally free sheaf) on G/P associated to the principal P -bundle: $G \rightarrow G/P$ by the representation M of P .

For any $\lambda \in \mathfrak{h}_{\mathbf{Z}}^*$, such that $\lambda(\alpha_i^\vee) = 0$ for all $i \in S$, the one dimensional T -module \mathbf{C}_{λ} (given by the character e^{λ}) admits a unique P -module structure (extending the T -module structure); in particular, we have the line bundle $\mathcal{L}(\mathbf{C}_{\lambda})$ on G/P . We abbreviate the line bundle $\mathcal{L}(\mathbf{C}_{-\lambda})$ by $\mathcal{L}(\lambda)$. Given two line bundles $\mathcal{L}(\lambda)$ and $\mathcal{L}(\mu)$ on G/P , we can form their external tensor product to get the line bundle $\mathcal{L}(\lambda \boxtimes \mu)$ on $G/P \times G/P$.

With this definition, we have the following:

(2.2) **PROPOSITION.** For any $\mu \in D_S^0$ (cf. Section 0):

- (a) $H^p(G/P, \mathcal{F}_e \otimes \mathcal{L}(\mu)) = 0$, for all $p > 0$
- (b) $H^p(G/P, \mathcal{F}_e^2 \otimes \mathcal{L}(\mu)) = 0$, for all $p > 0$, and
- (c) $H^0(G/P, \mathcal{F}_e^2 \otimes \mathcal{L}(\mu))$ (resp. $H^0(G/P, \mathcal{O}/\mathcal{F}_e^2 \otimes \mathcal{L}(\mu))$) is canonically isomorphic (as P -modules) with $(V(\mu)/\mathfrak{g} \cdot v_{\mu})^*$ (resp. $(\mathfrak{g} \cdot v_{\mu})^*$), where \mathcal{F}_e denotes the ideal sheaf of the base point $e = P/P \subset G/P$, \mathcal{O} denotes the structure sheaf of G/P , and $v_{\mu} \neq 0 \in [V(\mu)]_{\mu}$.

(Observe that, since $\mu(\alpha_i^\vee) = 0$ for $i \in S$, $\mathfrak{g} \cdot v_{\mu} \subset V(\mu)$ is stable under P , and also the point e being P -fixed $H^0(G/P, \mathcal{F}_e^2 \otimes \mathcal{L}(\mu))$ and $H^0(G/P, \mathcal{O}/\mathcal{F}_e^2 \otimes \mathcal{L}(\mu))$ have canonical P -module structures.)

Proof. (a) Consider the sheaf exact sequence:

$$(\mathcal{S}_1) \cdots \quad 0 \rightarrow \mathcal{I}_e \otimes \mathcal{L}(\mu) \rightarrow \mathcal{L}(\mu) \rightarrow \mathcal{O}/\mathcal{I}_e \otimes \mathcal{L}(\mu) \rightarrow 0.$$

Clearly $H^p(G/P, \mathcal{O}/\mathcal{I}_e \otimes \mathcal{L}(\mu)) = H^p(e, \mathcal{L}(\mu)|_e) = 0$, for all $p > 0$. Also $H^p(G/P, \mathcal{L}(\mu)) = 0$, for $p > 0$, by [RR; Theorem 1]; and the restriction map: $H^0(G/P, \mathcal{L}(\mu)) \rightarrow H^0(e, \mathcal{L}(\mu)|_e)$ is surjective (cf. [RR; Theorem 2]). So the long exact cohomology sequence, associated to the sheaf sequence (\mathcal{S}_1) , gives (a).

(b) Similarly, consider the sheaf exact sequence:

$$(\mathcal{S}_2) \cdots \quad 0 \rightarrow \mathcal{I}_e^2 \otimes \mathcal{L}(\mu) \rightarrow \mathcal{L}(\mu) \rightarrow (\mathcal{O}/\mathcal{I}_e^2) \otimes \mathcal{L}(\mu) \rightarrow 0.$$

We write a part of the corresponding cohomology exact sequence, and denote it by

$$(\mathcal{S}_3) \cdots \quad 0 \rightarrow H^0(G/P, \mathcal{I}_e^2 \otimes \mathcal{L}(\mu)) \rightarrow H^0(G/P, \mathcal{L}(\mu)) \\ \xrightarrow{\pi} H^0(G/P, (\mathcal{O}/\mathcal{I}_e^2) \otimes \mathcal{L}(\mu)) \rightarrow H^1(G/P, \mathcal{I}_e^2 \otimes \mathcal{L}(\mu)) \rightarrow 0.$$

The map: $u^- \rightarrow G/P$, given by $X \mapsto \exp X \pmod{P}$, is an open embedding (onto the ‘big’ open cell through e) and moreover the line bundle $\mathcal{L}(\mu)|_{\text{Image } u^-}$ admits a nowhere-vanishing (tautological) section of weight $-\mu$. This allows us to identify $H^0(G/P, \mathcal{O}/\mathcal{I}_e^2 \otimes \mathcal{L}(\mu))$ canonically with $\mathbf{C}_{-\mu} \otimes (\mathbf{C}[t_\beta]_{\beta \in \Delta_+^s} / \langle t_\alpha t_\beta \rangle_{\alpha, \beta \in \Delta_+^s})$, where $\{t_\beta\}_{\beta \in \Delta_+^s}$ are the coordinate functions on u^- under a fixed basis $\{X_{-\beta}\}_{\beta \in \Delta_+^s}$ (consisting of root vectors of weight $-\beta$) of u^- and $\langle t_\alpha t_\beta \rangle$ denotes the ideal generated by $t_\alpha t_\beta$. Further the Borel-Weil isomorphism canonically identifies $H^0(G/P, \mathcal{L}(\mu))$ with $V(\mu)^*$. So, transporting the map π under these identifications, we get the map

$$\hat{\pi} : V(\mu)^* \rightarrow \text{Hom}_{\mathbf{C}}(\mathbf{C}_\mu, \mathbf{C}[t_\beta]_{\beta \in \Delta_+^s} / \langle t_\alpha t_\beta \rangle_{\alpha, \beta \in \Delta_+^s}).$$

It is easy to see that the map $\hat{\pi}$ is given by

$$(\hat{\pi}(\theta)v_\mu) \left(\sum_{\beta \in \Delta_+^s} t_\beta X_{-\beta} \right) = \theta(\exp(\sum t_\beta X_{-\beta})v_\mu) \pmod{\langle t_\alpha t_\beta \rangle},$$

$$\text{for } \theta \in V(\mu)^* \text{ and } v_\mu \in \mathbf{C}_\mu = [V(\mu)]_\mu$$

$$= \theta(v_\mu) + \sum_{\beta \in \Delta_+^s} t_\beta \theta(X_{-\beta} v_\mu).$$

Now we assert that the map $\hat{\pi}$ (and hence π) is surjective: To prove this, it suffices to show (in view of the above expression of $\hat{\pi}$) that the vectors $\{\nu_\mu, X_{-\beta}\nu_\mu\}_{\beta \in \Delta_+^s}$ are linearly independent. But since they all have different weights, it suffices to observe that they are all non-zero (which follows since $\mu \in D_s^0$).

So the exact sequence (\mathcal{S}_3) (and the surjectivity of π) establishes the vanishing of $H^1(G/P, \mathcal{F}_e^2 \otimes \mathcal{L}(\mu))$. Vanishing of $H^p(G/P, \mathcal{F}_e^2 \otimes \mathcal{L}(\mu))$, for $p > 1$, follows by considering the cohomology exact sequence associated to the sheaf exact sequence:

$$(\mathcal{S}_4) \cdots 0 \rightarrow \mathcal{F}_e^2 \otimes \mathcal{L}(\mu) \rightarrow \mathcal{F}_e \otimes \mathcal{L}(\mu) \rightarrow \mathcal{F}_e/\mathcal{F}_e^2 \otimes \mathcal{L}(\mu) \rightarrow 0,$$

and the (a)-part of the proposition. So (b) follows.

(c) It is easy to see, from the description of the map $\hat{\pi}$, that

$$\text{Ker } \hat{\pi} = \{\theta \in V(\mu)^* : \theta|_{\mathfrak{g} \cdot \nu_\mu} = 0\} \approx (V(\mu)/\mathfrak{g} \cdot \nu_\mu)^*.$$

So, by the exact sequence (\mathcal{S}_3) again, (c) follows. □

Remark. The analogous proof as above also gives that $H^p(G/P, \mathcal{O}/\mathcal{F}_e^k \otimes \mathcal{L}(\mu)) = 0$, for all $p > 0$ and $k = 1, 2$.

(2.3) LEMMA. For $\lambda, \mu \in D_s^0$, $k = 1, 2$ and any $p \geq 0$, there are canonical isomorphisms:

$$\begin{aligned} H^p(G/P \times G/P, \mathcal{F}_D^k \otimes \mathcal{L}(\lambda \boxtimes \mu)) \\ \approx H^p(G/P, \mathcal{L}(\lambda) \otimes \mathcal{L}(H^0(G/P, \mathcal{F}_e^k \otimes \mathcal{L}(\mu))))), \end{aligned}$$

and

$$\begin{aligned} H^p(G/P \times G/P, \mathcal{O}/\mathcal{F}_D^k \boxtimes \mathcal{L}(\lambda \otimes \mu)) \\ \approx H^p(G/P, \mathcal{L}(\lambda) \otimes \mathcal{L}(H^0(G/P, \mathcal{O}/\mathcal{F}_e^k \otimes \mathcal{L}(\mu)))). \end{aligned}$$

Further $H^p(G/P \times G/P, \mathcal{F}_D \otimes \mathcal{L}(\lambda \boxtimes \mu)) = 0$, for all $p > 0$; where \mathcal{F}_D is the ideal sheaf of the diagonal $D \subset G/P \times G/P$.

(We will see in Theorem 2.5 that $H^p(G/P \times G/P, \mathcal{F}_D^2 \otimes \mathcal{L}(\lambda \boxtimes \mu)) = 0$, for all $p > 0$.)

Proof. Consider the fibration $\widehat{G/P} := G \times_P G/P \xrightarrow{\sigma} G/P$ (with fiber G/P), where P acts on G/P by left multiplication. Clearly the group

G acts on $\widehat{G/P}$ by multiplication on the first factor. Define a biregular G -equivariant isomorphism $d : \widehat{G/P} \rightarrow G/P \times G/P$, by $d(g, g'P) = (gP, gg'P)$, for $g, g' \in G$; where G acts diagonally on $G/P \times G/P$ (cf. [Ku₁; Section 1.1]). Clearly $d^{-1}(D) = G \times_P \{e\} \subset G \times_P G/P$. From this it is easy to see that $R^q\sigma_*(d^*(\mathcal{F}_D^k \otimes \mathcal{L}(\lambda \boxtimes \mu)))$ is canonically isomorphic with $\mathcal{L}(\lambda) \otimes \mathcal{L}(H^q(G/P, \mathcal{F}_D^k \otimes \mathcal{L}(\mu)))$, for any $q \geq 0$. (A similar statement is true for \mathcal{F}_D^k replaced by $\mathcal{O}/\mathcal{F}_D^k$.) In particular, by Proposition (2.2) and the (degenerate) Leray spectral sequence, first part of the lemma follows.

To prove the vanishing of $H^p(G/P \times G/P, \mathcal{F}_D \otimes \mathcal{L}(\lambda \boxtimes \mu))$; use the cohomology exact sequence, associated to the sheaf exact sequence:

$$\begin{aligned}
 (\mathcal{S}_5) \cdots \quad 0 \rightarrow \mathcal{F}_D \otimes \mathcal{L}(\lambda \boxtimes \mu) \rightarrow \mathcal{L}(\lambda \boxtimes \mu) \\
 \rightarrow (\mathcal{O}/\mathcal{F}_D) \otimes \mathcal{L}(\lambda \boxtimes \mu) \rightarrow 0,
 \end{aligned}$$

and [Ku₁; Theorem 1.5]. □

The following lemma is used in proving our crucial proposition (2.6).

(2.4) LEMMA. *Take $\lambda, \mu \in D_S^0$ and $\theta \in D$. Then $\text{Hom}_P(V(\theta)^*, \mathbf{C}_{-\lambda} \otimes (\mathfrak{g} \cdot v_\mu)^*)$ is one dimensional if and only if $\theta = \lambda + \mu - \beta$, for some $\beta \in \Delta_+ \cup \{0\}$ such that (if $\beta \neq 0$) $S \subset F_\beta$ (cf. Section 1.1). Otherwise it is zero.*

Proof. It is easy to see that, as a P -module,

$$\mathfrak{g} \cdot v_\mu \approx (\mathfrak{g}/\text{Ann } v_\mu) \otimes \mathbf{C}_\mu,$$

where $\text{Ann } v_\mu$ is the annihilator of v_μ in \mathfrak{g} and the right side is given the tensor product P -module structure. Hence

$$(\mathfrak{g} \cdot v_\mu)^* \approx (\mathfrak{g}/(\mathfrak{n} \oplus \text{Ker } \mu \oplus (\bigoplus_{\alpha \in \Delta_+(S)} \mathfrak{g}_{-\alpha})))^* \otimes \mathbf{C}_{-\mu},$$

where $\text{Ker } \mu := \{h \in \mathfrak{h} : \mu(h) = 0\}$. Using the Killing form on \mathfrak{g} , we get:

$$(I_1) \cdots \quad (\mathfrak{g} \cdot v_\mu)^* \approx (\mathfrak{u} \oplus (\text{Ker } \mu)^\perp) \otimes \mathbf{C}_{-\mu},$$

where $(\text{Ker } \mu)^\perp := \{h \in \mathfrak{h} : \langle h, \text{Ker } \mu \rangle = 0\}$ and $\mathfrak{u} \oplus (\text{Ker } \mu)^\perp$ is a P -module under the adjoint representation. By the result of Harish-Chandra (cf. proof of Proposition 1.4), we get:

$$\begin{aligned} & \text{Hom}_B(V(\theta)^*, \mathbf{C}_{-\lambda} \otimes (\mathfrak{g} \cdot \nu_\mu)^*) \\ & \approx \text{Hom}_B(V(\theta)^*, \mathbf{C}_{-(\lambda+\mu)} \otimes (\mathfrak{u} \oplus (\text{Ker } \mu)^\perp)), \text{ by } (I_1) \\ & \approx \{\nu \in [\mathfrak{u} \oplus (\text{Ker } \mu)^\perp]_{\lambda+\mu-\theta} : (\text{ad } e_i)^{\theta(\alpha_i^\vee)+1} \nu = 0, \text{ for all } i\}. \end{aligned}$$

It is easy to see, from the above description, that

$$\begin{aligned} (I_2) \cdots \quad & \text{Hom}_P(V(\theta)^*, \mathbf{C}_{-\lambda} \otimes (\mathfrak{g} \cdot \nu_\mu)^*) \\ & \approx \{\nu \in [\mathfrak{u} \oplus (\text{Ker } \mu)^\perp]_{\lambda+\mu-\theta} : (\text{ad } e_i)^{\theta(\alpha_i^\vee)+1} \nu = 0, \\ & \text{for } 1 \leq i \leq \ell \text{ and } (\text{ad } f_k) \nu = 0, \text{ for all } k \in S\}. \end{aligned}$$

Clearly the right side of I_2 is of $\dim \leq 1$ and if it is non-zero, the following conditions (1) and (2) are both satisfied:

- (1) $\lambda + \mu - \theta = \beta$, for some $\beta \in \Delta_+^S \cup \{0\}$, and
- (2) If $\beta \neq 0$, $F_\beta \supset S$.

Conversely, for any dominant θ which satisfies the conditions (1) and (2) as above, the right side of I_2 (and hence $\text{Hom}_P(V(\theta)^*, \mathbf{C}_{-\lambda} \otimes (\mathfrak{g} \cdot \nu_\mu)^*)$) is one dimensional:

If $\beta = 0$, $(\text{ad } e_i)^{\theta(\alpha_i^\vee)+1}((\text{Ker } \mu)^\perp) = 0$ for all $i \notin S$ (since $\lambda, \mu \in D_S^0$), and $\text{ad } e_k((\text{Ker } \mu)^\perp) = \text{ad } f_k((\text{Ker } \mu)^\perp) = 0$ for all $k \in S$ (since $\mu(\alpha_k^\vee) = 0$).

So assume now that $\beta \in \Delta_+^S$ and pick $0 \neq X_\beta \in \mathfrak{g}_\beta$: By (2), $(\text{ad } f_k)X_\beta = 0$, for $k \in S$. So, by the $s\ell(2)$ -theory, $\beta(\alpha_k^\vee) \leq 0$ and $(\text{ad } e_k)^{1-\beta(\alpha_k^\vee)}X_\beta = 0$. For $i \notin S$, we again claim that $(\text{ad } e_i)^{\theta(\alpha_i^\vee)+1}X_\beta = 0$, i.e., $\beta + (\theta(\alpha_i^\vee) + 1)\alpha_i \notin \Delta_+$: We have $[\beta + (\theta(\alpha_i^\vee) + 1)\alpha_i](\alpha_i^\vee) = (\lambda + \mu)(\alpha_i^\vee) + (\lambda + \mu - \beta)(\alpha_i^\vee) + 2 \geq 4$, since $\lambda + \mu - \beta = \theta \in D$ and $\lambda, \mu \in D_S^0$. But this contradicts [B; page 278, Fact 6].

Next observe that any $\beta \in \Delta_+$, with $S \subset F_\beta$, automatically lies in Δ_+^S . This completes the proof of the lemma. □

Following is the main theorem of this section:

(2.5) THEOREM. For any $\lambda, \mu \in D_S^0$ (where $S \subset \{1, \dots, \ell\}$ is arbitrary)

$$H^p(G/P \times G/P, \mathcal{I}_D^2 \otimes \mathcal{L}(\lambda \boxtimes \mu)) = 0, \text{ for all } p > 0;$$

where (as in Lemma 2.3) \mathcal{I}_D is the ideal sheaf of the diagonal $D \subset G/P \times G/P$.

Before we come to the proof of the above theorem, we prove the following crucial

(2.6) PROPOSITION. With the notation and assumptions as in Theorem (2.5), the following two are equivalent:

- (a) $H^1(G/P \times G/P, \mathcal{I}_D^2 \otimes \mathcal{L}(\lambda \boxtimes \mu)) = 0$.
- (b) For all $\beta \in \Delta_+$ satisfying

- (1) $F_\beta \supset S$, and
- (2) $\lambda + \mu - \beta \in D$,

there exists a $f_\beta \in \text{Hom}_B(\mathbf{C}_{\lambda+\mu-\beta} \otimes V(\lambda)^*, V(\mu))$ such that $X_\beta(f_\beta(\mathbf{C}_{\lambda+\mu-\beta} \otimes v_\lambda^*)) \neq 0$, for $X_\beta \neq 0 \in \mathfrak{g}_\beta$; where $v_\lambda^* \neq 0 \in [V(\lambda)^*]_{-\lambda}$.

Proof. From the cohomology exact sequence, associated to the sheaf exact sequence:

$$(\mathcal{I}_D^2) \cdots \quad 0 \rightarrow \mathcal{I}_D^2 \otimes \mathcal{L}(\lambda \boxtimes \mu) \rightarrow \mathcal{L}(\lambda \boxtimes \mu) \rightarrow (\mathcal{O}/\mathcal{I}_D^2) \otimes \mathcal{L}(\lambda \boxtimes \mu) \rightarrow 0,$$

and the vanishing of $H^1(G/P \times G/P, \mathcal{L}(\lambda \boxtimes \mu))$ (cf. [Ku₁; Theorem 1.5]), we get that (a) is equivalent to the surjectivity of the canonical map $\tau : H^0(G/P \times G/P, \mathcal{L}(\lambda \boxtimes \mu)) \rightarrow H^0(G/P \times G/P, (\mathcal{O}/\mathcal{I}_D^2) \otimes \mathcal{L}(\lambda \boxtimes \mu))$.

By Lemma (2.3) and Proposition (2.2) we get:

$$H^0(G/P \times G/P, (\mathcal{O}/\mathcal{I}_D^2) \otimes \mathcal{L}(\lambda \boxtimes \mu)) \approx H^0(G/P, \mathcal{L}(\lambda) \otimes \mathcal{L}((\mathfrak{g} \cdot v_\mu)^*)).$$

Further, by [Ku₁; Proof of Theorem 2.2] and Borel-Weil theorem,

$$H^0(G/P \times G/P, \mathcal{L}(\lambda \boxtimes \mu)) \approx H^0(G/P, \mathcal{L}(\lambda) \otimes \mathcal{L}(V(\mu)^*)).$$

Transporting the map τ under these identifications, we get the map

$$\tilde{\tau} : H^0(G/P, \mathcal{L}(\lambda) \otimes \mathcal{L}(V(\mu)^*)) \rightarrow H^0(G/P, \mathcal{L}(\lambda) \otimes \mathcal{L}((\mathfrak{g} \cdot v_\mu)^*));$$

which in fact is induced from the canonical restriction: $V(\mu)^* \rightarrow (\mathfrak{g} \cdot v_\mu)^*$.

By Peter-Weyl theorem, for any algebraic P -module M , we have a canonical G -module isomorphism:

$$H^0(G/P, \mathcal{L}(M)) \approx \bigoplus_{\theta \in D} V(\theta)^* \otimes [V(\theta) \otimes M]^P,$$

where G acts trivially on $[V(\theta) \otimes M]^P$. (Even though we do not need, a more general result is obtained by Bott [Bo; Theorem I].) So the surjectivity of the map $\tilde{\tau}$ (and hence of τ) is equivalent to the surjectivity of the canonical restriction maps

$$\begin{aligned} \gamma_\theta : [V(\theta) \otimes \mathbf{C}_{-\lambda} \otimes V(\mu)^*]^P &\approx \text{Hom}_P(\mathbf{C}_\lambda \otimes V(\mu), V(\theta)) \\ &\rightarrow \text{Hom}_P(\mathbf{C}_\lambda \otimes (\mathfrak{g} \cdot v_\mu), V(\theta)), \end{aligned}$$

for all $\theta \in D$.

For $\theta = \lambda + \mu$, the map γ_θ is clearly non-zero and hence, by Lemma (2.4), is surjective. Making use of Lemma (2.4) again, we only need to check (for the surjectivity of τ) that the map γ_θ is non-zero for $\theta = \lambda + \mu - \beta$, for all those $\beta \in \Delta_+$ satisfying $S \subset F_\beta$ (and $\lambda + \mu - \beta$ dominant):

Choose a positive definite Hermitian form $\{ , \}$ on $V(\lambda)$ (and $V(\mu)$) satisfying $\{Xv, w\} = -\{v, \sigma(X)w\}$, for $v, w \in V(\lambda)$ and $X \in \mathfrak{g}$; where σ is a conjugate-linear involution of \mathfrak{g} which takes \mathfrak{g}_α to $\mathfrak{g}_{-\alpha}$ for all $\alpha \in \Delta$. Now set the tensor product form (again denoted by) $\{ , \}$ on $V(\lambda) \otimes V(\mu)$.

Consider the diagram (for $\theta = \lambda + \mu - \beta$):

$$\begin{array}{ccc}
 \text{Hom}_G(V(\theta), V(\lambda) \otimes V(\mu)) & \xrightarrow{\sim} \gamma_3 & \text{Hom}_G(V(\lambda) \otimes V(\mu), V(\theta)) & \xrightarrow{\sim} \gamma_4 & \text{Hom}_B(\mathbf{C}_\lambda \otimes V(\mu), V(\theta)) \\
 \uparrow \gamma_2 & & \searrow \sim V_6 & & \uparrow \gamma_5 \\
 \text{Hom}_G(V(\theta) \otimes V(\lambda)^*, V(\mu)) & & & & \text{Hom}_P(\mathbf{C}_\lambda \otimes V(\mu), V(\theta)) \\
 \downarrow \gamma_1 & & & & \downarrow \gamma_6 \\
 \text{Hom}_B(\mathbf{C}_\theta \otimes V(\lambda)^*, V(\mu)) & & & & \text{Hom}_P(\mathbf{C}_\lambda \otimes (\mathfrak{g} \cdot v_\mu), V(\theta));
 \end{array}$$

where $\gamma_1, \gamma_4, \gamma_5, \gamma_6$ are the canonical restriction maps, and γ_2 is the canonical isomorphism. Clearly γ_1 and γ_4 are isomorphisms and moreover γ_5 is injective. But γ_4 being surjective, γ_5 is surjective as well. Now we describe the map γ_3 : For any non-zero $f \in \text{Hom}_G(V(\theta), V(\lambda) \otimes V(\mu))$, write $V(\lambda) \otimes V(\mu) = \text{Image } \bar{f} \oplus (\text{Image } \bar{f})^\perp$ and set $\gamma_3(f)$ as the projection on the first factor (identifying it with $V(\theta)$ under \bar{f}). It is easy to see that γ_3 is a bijective map. (Observe that it is not a linear map.)

Following through the various isomorphisms in the above diagram, it can be seen that

$$\begin{aligned}
 \text{the map } \gamma_6 \text{ is non-zero} &\Leftrightarrow \text{there exists a B-morphism } f = f_\beta : \mathbf{C}_\theta \otimes V(\lambda)^* \rightarrow V(\mu) \text{ such that } \{(\gamma_2 \gamma_1^{-1} f)V(\theta), \mathbf{C}_\lambda \otimes (\mathfrak{g} \cdot v_\mu)\} \neq 0 \\
 &\Leftrightarrow \{U(n^-)((\gamma_2 \gamma_1^{-1} f)\mathbf{C}_\theta), \mathbf{C}_\lambda \otimes (\mathfrak{g} \cdot v_\mu)\} \neq 0 \\
 &\Leftrightarrow \{(\gamma_2 \gamma_1^{-1} f)\mathbf{C}_\theta, \mathbf{C}_\lambda \otimes (\mathfrak{g} \cdot v_\mu)\} \neq 0, \text{ by the invariance of } \{ , \}; \text{ since } \mathbf{C}_\lambda \otimes (\mathfrak{g} \cdot v_\mu) \text{ is } U(n)\text{-stable} \\
 &\Leftrightarrow \{f(\mathbf{C}_\theta \otimes v_\lambda^*), \mathfrak{g} \cdot v_\mu\} \neq 0 \\
 &\Leftrightarrow \{f(\mathbf{C}_\theta \otimes v_\lambda^*), X_{-\beta} v_\mu\} \neq 0, \text{ for } 0 \neq X_{-\beta} \in \mathfrak{g}_{-\beta} \\
 &\Leftrightarrow \{X_\beta(f(\mathbf{C}_\theta \otimes v_\lambda^*)), v_\mu\} \neq 0, \text{ by the invariance of } \{ , \} \\
 &\Leftrightarrow X_\beta(f(\mathbf{C}_\theta \otimes v_\lambda^*)) \neq 0.
 \end{aligned}$$

This proves the proposition. □

Now we are ready to prove Theorem (2.5):

(2.7) *Proof of Theorem (2.5).* We first prove the vanishing of $H^1(G/P \times G/P, \mathcal{S}_D^2 \otimes \mathcal{L}(\lambda \boxtimes \mu))$: In view of Proposition (2.6), it suffices to check the equivalent condition (b):

By Theorem (1.1), for any $\beta \in \Delta_+$ as in condition (b) of Proposition 2.6, $\text{Hom}_G(V(\lambda + \mu - \beta), V(\lambda) \otimes V(\mu)) \xrightarrow{\sim} \text{Hom}_B(\mathbf{C}_{\lambda + \mu - \beta}, V(\lambda) \otimes V(\mu)) \approx \text{Hom}_B(\mathbf{C}_{\lambda + \mu - \beta} \otimes V(\lambda)^*, V(\mu)) \neq 0$. In fact, if we carefully see

the proof of Theorem (1.1) (as given in Section 1.7), we have constructed $f_\beta \in \text{Hom}_B(\mathbf{C}_{\lambda+\mu-\beta} \otimes V(\lambda)^*, V(\mu))$ which satisfies the requirement of Proposition (2.6) viz $X_\beta(f_\beta(\mathbf{C}_{\lambda+\mu-\beta} \otimes v_\lambda^*)) \neq 0$. This completes the proof of the vanishing of $H^1(G/P \times G/P, \mathcal{F}_D^2 \otimes \mathcal{L}(\lambda \boxtimes \mu))$.

To prove the higher cohomology vanishing; consider the cohomology exact sequence, associated to the sheaf exact sequence:

$$\begin{aligned}
 (\mathcal{F}_7) \cdots \quad 0 \rightarrow \mathcal{F}_D^2 \otimes \mathcal{L}(\lambda \boxtimes \mu) \rightarrow \mathcal{F}_D \otimes \mathcal{L}(\lambda \boxtimes \mu) \\
 \rightarrow (\mathcal{F}_D/\mathcal{F}_D^2) \otimes \mathcal{L}(\lambda \boxtimes \mu) \rightarrow 0,
 \end{aligned}$$

together with Lemma (2.3) and [W₄; Proposition 3.9]. (Use the fact that the sheaf $(\mathcal{F}_D/\mathcal{F}_D^2) \otimes \mathcal{L}(\lambda \boxtimes \mu)$ of $\mathcal{O}_{G/P \times G/P}/\mathcal{F}_D \approx \mathcal{O}_D$ modules on $G/P \times G/P$ is supported on the diagonal D and, moreover, restricted to D it is isomorphic with $\Omega_{G/P}^1 \otimes \mathcal{L}(\lambda + \mu)$, where $\Omega_{G/P}^1$ is the sheaf of 1-forms on G/P .) This completes the proof of Theorem (2.5). □

Let us recall the definition of the Gaussian map from [W₄]:

(2.8) *Definition.* Let X be a smooth projective variety with two line bundles \mathcal{L}_1 and \mathcal{L}_2 on X . Let $D \subset X \times X$ be the diagonal. Define the *Gaussian map*

$$\begin{aligned}
 \Phi : H^0(X \times X, \mathcal{F}_D \otimes (\mathcal{L}_1 \boxtimes \mathcal{L}_2)) \rightarrow H^0(X \times X, (\mathcal{F}_D/\mathcal{F}_D^2) \otimes (\mathcal{L}_1 \boxtimes \mathcal{L}_2)) \\
 \parallel \\
 H^0(X, \Omega_X^1 \otimes \mathcal{L}_1 \otimes \mathcal{L}_2),
 \end{aligned}$$

got by the projection: $\mathcal{F}_D \rightarrow \mathcal{F}_D/\mathcal{F}_D^2$, where \mathcal{F}_D is the ideal sheaf of $D \subset X \times X$ and Ω_X^1 is the sheaf of 1-forms on X .

The following result was conjectured by Wahl [W₄], who proved it for $X = \text{SL}(n, \mathbf{C})/B$ and also for $X = G/P$, where P is a maximal parabolic subgroup (in a semi-simple G) corresponding to a minuscule weight (cf. [W₄; Theorems 6.1 and 6.2]).

(2.9) **THEOREM.** *Let G be a complex semi-simple simply-connected group and $P = P_s$ any parabolic subgroup. Then, for any $\lambda, \mu \in D_s^0$, the Gaussian map $\Phi : H^0(G/P \times G/P, \mathcal{F}_D \otimes \mathcal{L}(\lambda \boxtimes \mu)) \rightarrow H^0(G/P, \Omega_{G/P}^1 \otimes \mathcal{L}(\lambda) \otimes \mathcal{L}(\mu))$ (defined in Section 2.8) is surjective.*

Proof. Follows trivially from the cohomology sequence associated to the sheaf sequences \mathcal{S}_7 (cf. Section 2.7), together with Theorem (2.5). \square

(2.10) *Remark.* (a) Surjectivity of the Gaussian map Φ (as in the above theorem) together with Lemma (2.3), in view of the sequence \mathcal{S}_7 , gives the vanishing of $H^1(G/P \times G/P, \mathcal{I}_D^2 \otimes \mathcal{L}(\lambda \boxtimes \mu))$. Now the vanishing of H^1 implies the vanishing of $H^p(G/P \times G/P, \mathcal{I}_D^2 \otimes \mathcal{L}(\lambda \boxtimes \mu))$, for any $p > 0$ (as is seen in the proof of Theorem 2.5, given in Section 2.7). Hence we see that Wahl's conjecture (proved in Theorem 2.9) is equivalent to Theorem (2.5).

(b) A more geometric proof of Wahl's conjecture (not using Theorem 1.1) is desirable.

SCHOOL OF MATHS, T.I.F.R., BOMBAY, INDIA
UNIVERSITY OF NORTH CAROLINA

REFERENCES

- [Bo] R. Bott, Homogeneous vector bundles, *Ann. of Math.*, **66** (1957), 203–248.
 [B] N. Bourbaki, *Groupes et algèbres de Lie*, Chap. 4–6, Paris: Masson (1981).
 [Ku₁] S. Kumar, Proof of the Parthasarathy-Ranga Rao-Varadarajan conjecture, *Invent. Math.*, **93** (1988), 117–130.
 [Ku₂] ———, A refinement of the PRV conjecture, *Invent. Math.*, **97** (1989), 305–311.
 [RR] S. Ramanan and A. Ramanathan, Projective normality of flag varieties and Schubert varieties, *Invent. Math.*, **79** (1985), 217–224.
 [W₁] J. Wahl, The Jacobian algebra of a graded Gorenstein singularity, *Duke Math. J.*, **55** (1987), 843–871.
 [W₂] ———, Deformations of quasihomogeneous surface singularities, *Math. Ann.*, **280** (1988), 105–128.
 [W₃] ———, Gaussian maps on algebraic curves, *J. Diff. Geometry*, **32** (1990), 77–98.
 [W₄] ———, Gaussian maps and tensor products of irreducible representations, *Manuscripta Math.*, **73** (1991), 229–259.